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FCACAHCACACHCACHCACHCACHLACALACAT HCACAHCHCACFAC AT HCACACHCACATACHE HCH0 + T+ DT+ D 3+ D TH D4 I D+ FHOH Sh D+ T+ D+ T D+ D4 D I+ D4 I+ D4 3+ D SIS+ IF D+ O
FCHCACAC A HCHCACHCHCACAC HCHCACAC HCHCACACHCACHC ACAC FCHCACACACHCHC AC+ 0 I I+ - D H I+ I T D04 D104 I+ I+ M 4 4 34 2 M 24 24 I I D4 X 4 D44 0
FCHCACACACHCHCACHCHCACAC HCHCACACHCHCACACACACHC ACAC FCHCACACACAHCHC AC+ 0+ I D+ - D H I+ I T 04 D104 I I H- 4 5 34 2 M 24 2+ I I 4 X 4 404 o
FCACHCACACHCACHCACHCACHCACACHCACHCACHCAHCACHCAC HC HC FCACHCACHCACHE AT 0 I I -2 3 H 54 I D+ D104 D2 -2 2 2 24 - D I D4 2+ - 2+ D 4 D+ 4 4o
FCACHCAHCACHCACHCACHCACHCAHCACHCACHCAC HCHCACHCAC HC HC AFCACHCACHCACHE HCAH 0 I I I 2 30 H 54 T DI04 I I+ -2+ H 2+ 24 I D I+ D+ - 2+ I 4 D+ 4+ o
FCACHCAHCACHCACHCACHCACHCAHCACHCACHCAC HCHCACHCAC HC +C HCACHCACHCACHE AT 0 H I I3 30 H 54 I I+ I I3+ I 2+ H 54 4 50 I 0 I I 24 I I I -4+
FCACHCACACHCACHCACHCACHCACACHCACHCAC HCHCACHCAC HC +C HCACHCACHCACHE AT+ 0 H I+ 30 H 5 T D+ I I3+ 2 2+ 2 24 24 0 I 20 I+ 2 2+ I 2+ - 4 -4 40
FCHCACACAEHCHCACHCHCACAC HCHCACACHCHCACACACACHC ACAC FCHCACACACAHCHC AC+ 0+ I I+ I I H I+ I T 04 2104 20 I+ M 4 4 34 2 24 24 I I 24 X4 I 444 0
FCHCACACHCHCHCACHCHCACAC HCHCACACHCHCACACACACHC ACAC FCHCACACACHCHC AC+ 0+ I I+ - D H I I H 04 D104 I+ I M 4 4 34 2 I 24 24 I I 24 X4 I 404 5
FCHCACACAHCHCHCACHCHCACAC HCHCACACHCHCACACACACHC ACAC FCHCACACACAHCHC AC+ 0 I I+ - D H I+ I H IO D104 2+ I H 4 5 34 2 I 24 24 I I 4 X4 I 4404 o

4,5 cm

Costas esq.
19 cm

Diag.2 44 18 cm
34 cm

Frente

Costas dir..
19 cm

-
HCACHCHCACHCACHCACHCACHCACACHCACHCACHCHCACHCAC HC HC HCACHCHCHCACHE HC+ 0 D T D4 D4 DD 204 D4 D+ DHDH D4 Db D Db HH D4 D D JH D Db DH D4 DHDH D H D24 D404 ” 2 =5 8
HCACHCHCACHCACHCACHCACHCACACHCACHCACHCHCACHAC HC HC HCACHCHCHCACHE HC+ 0 D I D+ DD 04 D D+ DD D4 D+ I D+ HH D4 D4 D D D4 I D D DE I F D44 2 = . B E ~
HCACHCHCACHCACHCACHCACHCACACHCACHCACHCHCACHAC HC HC HCACHCHCHCACHC HC+ 0 D H DD D0 2404 JH D DEDF DD IH D HH D D D DH DH D I D DH DD D DD = < 29 &%
HCACHCACACHCACHCACHCACHCAHCACHCACHCACHCHCACHCAC HC HC HCACHCHCHCACHC HC+ 0+ D H DI D D0 204 D DEDF DD I D I DD D D DH D I D DH DD D DD D40 5 5 £ 22
HCACHC HCACHC AHCACHCHCACHCACACHCACACHCACHCACHCHC HC HC HCAHCACHCHCHCAC ACH 0+ HDH D DD D D D D HDH DD D D D D4 D I D+ D+ I DD A DDA DD+ 4 & = S § §€E
HCACHC HCACHC AHCACHCHCACHCACACHCACACHCACHCACHCHC HC HCHCAHCACHCHCHCAC ACH 0+ I+ D D D D D D D HDH D+ D D D D4 D I D+ D+ I D DH DDA DD+ )4 5 3 o 0 O &3
FCACHCHCACHCAHCHCACHCACHCACACHCACHCACHCHCACHCAC HC HC HCACHCHCHCACHC HCH 0 D I DD 2D 204 D D+ D404 D42+ D+ 2D+ D4 D D4 D4 D I D DHDH I DH 24040 ° o s T
HCACHCHCACHCACHCACHCACHCACACHCACHCACHCHCACHCAC HC HC HCACHCHCHCACHC HC+ 0 D T D+ DD 04 H D+ DD D4 D+ I D+ HH DH D D D D4 I D D DE I DF D44 S S8 o E sz S8R
HCACHCAHCACHCACHCACHCACHCACACHCACHCACHCHCACHCAC HC HC HCACHCHCHCACHC HC+ 0+ D I DI D D0 204 JH D DEDF DD I D I DD D DH DF D I D DH DD D D4 . l¢m.mm,m2 o
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